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	Frequently Asked Questions	

Question	

SMART �@�0�A�H�8�D�@�>�2�:�0

	

Answer	

���0�6�4�K�9 �0�B�@�8�1�C�B S.M.A.R.T. �8�<�5�5�B �=�5�A�:�>�;�L�:�> �?�>�;�5�9. ���0�6�4�>�5

�?�>�;�5 �>�B�=�>�A�8�B�A�O �: �>�?�@�5�4�5�;�Q�=�=�>�<�C �:�;�0�A�A�C �8�7 �A�;�5�4�C�N�I�8�E: ID,

Value, Worst, Threshold �8 RAW. � �0�A�A�<�>�B�@�8�< �:�0�6�4�K�9 �8�7 �:�;�0�A�A�>�2.

   ID (�<�>�6�5�B �B�0�:�6�5 �8�<�5�=�>�2�0�B�L�A�O Number)  � �8�4�5�=�B�8�D�8�:�0�B�>�@, �=�>�<�5�@

�0�B�@�8�1�C�B�0 �2 �B�5�E�=�>�;�>�3�8�8 S.M.A.R.T. ���0�7�2�0�=�8�5 �>�4�=�>�3�> �8 �B�>�3�> �6�5

�0�B�@�8�1�C�B�0 �?�@�>�3�@�0�<�<�0�<�8 �<�>�6�5�B �2�K�4�0�2�0�B�L�A�O �?�>-�@�0�7�=�>�<�C, �0

�2�>�B �8�4�5�=�B�8�D�8�:�0�B�>�@ �2�A�5�3�4�0 �>�4�=�>�7�=�0�G�=�> �>�?�@�5�4�5�;�O�5�B

�0�B�@�8�1�C�B. ���A�>�1�5�=�=�> �M�B�> �?�>�;�5�7�=�> �2 �A�;�C�G�0�5 �?�@�>�3�@�0�<�<,

�:�>�B�>�@�K�5 �?�5�@�5�2�>�4�O�B �>�1�I�5�?�@�8�=�O�B�>�5 �=�0�7�2�0�=�8�5 �0�B�@�8�1�C�B�0 �A

�0�=�3�;�8�9�A�:�>�3�> �O�7�K�:�0 �=�0 �@�C�A�A�:�8�9. ���=�>�3�4�0 �?�>�;�C�G�0�5�B�A�O �B�0�:�0�O

�1�5�;�8�1�5�@�4�0, �G�B�> �?�>�=�O�B�L, �G�B�> �6�5 �M�B�> �7�0 �?�0�@�0�<�5�B�@, �<�>�6�=�>

�B�>�;�L�:�> �?�> �5�3�> �8�4�5�=�B�8�D�8�:�0�B�>�@�C.

   Value (Current)  � �B�5�:�C�I�5�5 �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 �2 �?�>�?�C�3�0�O�E (�B. 	�5. �2

�2�5�;�8�G�8�=�0�E �=�5�8�7�2�5�A�B�=�>�9 �@�0�7�<�5�@�=�>�A�B�8). �� �?�@�>�F�5�A�A�5 �@�0�1�>�B�K

�2�8�=�G�5�A�B�5�@�0 �>�=�> �<�>�6�5�B �C�<�5�=�L�H�0�B�L�A�O, �C�2�5�;�8�G�8�2�0�B�L�A�O �8

�>�A�B�0�2�0�B�L�A�O �=�5�8�7�<�5�=�=�K�<. ���> �?�>�:�0�7�0�B�5�;�N Value �=�5�;�L�7�O

�A�C�4�8�B�L �> �«�7�4�>�@�>�2�L�5�» �0�B�@�8�1�C�B�0, �=�5 �A�@�0�2�=�8�2�0�O �5�3�> �A�>

�7�=�0�G�5�=�8�5�< Threshold �M�B�>�3�> �6�5 �0�B�@�8�1�C�B�0. ���0�: �?�@�0�2�8�;�>, �G�5�<

�<�5�=�L�H�5 Value, �B�5�< �E�C�6�5 �A�>�A�B�>�O�=�8�5 �0�B�@�8�1�C�B�0 (�8�7�=�0�G�0�;�L�=�>

�2�A�5 �:�;�0�A�A�K �7�=�0�G�5�=�8�9, �:�@�>�<�5 RAW, �=�0 �=�>�2�>�< �4�8�A�:�5 �8�<�5�N�B

�<�0�:�A�8�<�0�;�L�=�>�5 �8�7 �2�>�7�<�>�6�=�K�E �7�=�0�G�5�=�8�5, �=�0�?�@�8�<�5�@ 100).

   Worst  � �=�0�8�E�C�4�H�5�5 �7�=�0�G�5�=�8�5, �:�>�B�>�@�>�3�> �4�>�A�B�8�3�0�;�>

�7�=�0�G�5�=�8�5 Value �7�0 �2�A�N �6�8�7�=�L �2�8�=�G�5�A�B�5�@�0. ���7�<�5�@�O�5�B�A�O �B�>�6�5 �2

�«�?�>�?�C�3�0�O�E�». �� �?�@�>�F�5�A�A�5 �@�0�1�>�B�K �>�=�> �<�>�6�5�B �C�<�5�=�L�H�0�B�L�A�O

�;�8�1�> �>�A�B�0�2�0�B�L�A�O �=�5�8�7�<�5�=�=�K�<. ���> �=�5�<�C �B�>�6�5 �=�5�;�L�7�O

�>�4�=�>�7�=�0�G�=�> �A�C�4�8�B�L �> �7�4�>�@�>�2�L�5 �0�B�@�8�1�C�B�0, �=�C�6�=�>

�A�@�0�2�=�8�2�0�B�L �5�3�> �A Threshold.

   Threshold  � �7�=�0�G�5�=�8�5 �2 �«�?�>�?�C�3�0�O�E�», �:�>�B�>�@�>�3�> �4�>�;�6�5�=

�4�>�A�B�8�3�=�C�B�L Value �M�B�>�3�> �6�5 �0�B�@�8�1�C�B�0, �G�B�>�1�K �A�>�A�B�>�O�=�8�5

�0�B�@�8�1�C�B�0 �1�K�;�> �?�@�8�7�=�0�=�> �:�@�8�B�8�G�5�A�:�8�<. ���@�>�I�5 �3�>�2�>�@�O, Threshold

 � �M�B�> �?�>�@�>�3: �5�A�;�8 Value �1�>�;�L�H�5 Threshold  � �0�B�@�8�1�C�B �2 �?�>�@�O�4�:�5; �5�A�;�8

�<�5�=�L�H�5 �;�8�1�> �@�0�2�5�=  � �A �0�B�@�8�1�C�B�>�< �?�@�>�1�;�5�<�K. ���<�5�=�=�> �?�>

�B�0�:�>�<�C �:�@�8�B�5�@�8�N �C�B�8�;�8�B�K, �G�8�B�0�N�I�8�5 S.M.A.R.T., �2�K�4�0�N�B �>�B�G�Q�B �>

�A�>�A�B�>�O�=�8�8 �4�8�A�:�0 �;�8�1�> �>�B�4�5�;�L�=�>�3�> �0�B�@�8�1�C�B�0 �2�@�>�4�5 �«Good�»

�8�;�8 �«Bad�». ���@�8 �M�B�>�< �>�=�8 �=�5 �C�G�8�B�K�2�0�N�B, �G�B�> �4�0�6�5 �?�@�8 Value,

�1�>�;�L�H�5�< Threshold, �4�8�A�: �=�0 �A�0�<�>�< �4�5�;�5 �C�6�5 �<�>�6�5�B �1�K�B�L

�C�<�8�@�0�N�I�8�< �A �B�>�G�:�8 �7�@�5�=�8�O �?�>�;�L�7�>�2�0�B�5�;�O, �0 �B�> �8 �2�>�2�A�5

�E�>�4�O�G�8�< �<�5�@�B�2�5�F�>�<, �?�>�M�B�>�<�C �?�@�8 �>�F�5�=�:�5 �7�4�>�@�>�2�L�O
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�4�8�A�:�0 �A�<�>�B�@�5�B�L �A�B�>�8�B �2�A�Q-�B�0�:�8 �=�0 �4�@�C�3�>�9 �:�;�0�A�A �0�B�@�8�1�C�B�0, �0

�8�<�5�=�=�>  � RAW. ���4�=�0�:�> �8�<�5�=�=�> �7�=�0�G�5�=�8�5 Value, �>�?�C�A�B�8�2�H�5�5�A�O

�=�8�6�5 Threshold, �<�>�6�5�B �A�B�0�B�L �;�5�3�8�B�8�<�=�K�< �?�>�2�>�4�>�< �4�;�O �7�0�<�5�=�K

�4�8�A�:�0 �?�> �3�0�@�0�=�B�8�8 (�4�;�O �A�0�<�8�E �3�0�@�0�=�B�8�9�I�8�:�>�2, �:�>�=�5�G�=�> �6�5)

 � �:�B�> �6�5 �O�A�=�5�5 �A�:�0�6�5�B �> �7�4�>�@�>�2�L�5 �4�8�A�:�0, �:�0�: �=�5 �>�= �A�0�<,

�4�5�<�>�=�A�B�@�8�@�C�O �B�5�:�C�I�5�5 �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 �E�C�6�5

�:�@�8�B�8�G�5�A�:�>�3�> �?�>�@�>�3�0? �". 	�5. �?�@�8 �7�=�0�G�5�=�8�8 Value, �1�>�;�L�H�5�<

Threshold, �A�0�< �4�8�A�: �A�G�8�B�0�5�B, �G�B�> �0�B�@�8�1�C�B �7�4�>�@�>�2, �0 �?�@�8 �<�5�=�L�H�5�<

�;�8�1�> �@�0�2�=�>�<  � �G�B�> �1�>�;�5�=. ���G�5�2�8�4�=�>, �G�B�> �?�@�8 Threshold=0

�A�>�A�B�>�O�=�8�5 �0�B�@�8�1�C�B�0 �=�5 �1�C�4�5�B �?�@�8�7�=�0�=�> �:�@�8�B�8�G�5�A�:�8�<

�=�8�:�>�3�4�0. Threshold  � �?�>�A�B�>�O�=�=�K�9 �?�0�@�0�<�5�B�@, �7�0�H�8�B�K�9

�?�@�>�8�7�2�>�4�8�B�5�;�5�< �2 �4�8�A�:�5.

   RAW (Data)  � �A�0�<�K�9 �8�=�B�5�@�5�A�=�K�9, �2�0�6�=�K�9 �8 �=�C�6�=�K�9 �4�;�O �>�F�5�=�:�8

�?�>�:�0�7�0�B�5�;�L. �� �1�>�;�L�H�8�=�A�B�2�5 �A�;�C�G�0�5�2 �>�= �A�>�4�5�@�6�8�B �2 �A�5�1�5

�=�5 �«�?�>�?�C�3�0�8�», �0 �@�5�0�;�L�=�K�5 �7�=�0�G�5�=�8�O, �2�K�@�0�6�0�5�<�K�5 �2

�@�0�7�;�8�G�=�K�E �5�4�8�=�8�F�0�E �8�7�<�5�@�5�=�8�O, �=�0�?�@�O�<�C�N �3�>�2�>�@�O�I�8�5 �>

�B�5�:�C�I�5�< �A�>�A�B�>�O�=�8�8 �4�8�A�:�0. ���A�=�>�2�K�2�0�O�A�L �8�<�5�=�=�> �=�0 �M�B�>�<

�?�>�:�0�7�0�B�5�;�5, �D�>�@�<�8�@�C�5�B�A�O �7�=�0�G�5�=�8�5 Value (�0 �2�>�B �?�> �:�0�:�>�<�C

�0�;�3�>�@�8�B�<�C �>�=�> �D�>�@�<�8�@�C�5�B�A�O  � �M�B�> �C�6�5 �B�0�9�=�0

�?�@�>�8�7�2�>�4�8�B�5�;�O, �?�>�:�@�K�B�0�O �<�@�0�:�>�<). ���<�5�=�=�> �C�<�5�=�8�5 �G�8�B�0�B�L

�8 �0�=�0�;�8�7�8�@�>�2�0�B�L �?�>�;�5 RAW �4�0�Q�B �2�>�7�<�>�6�=�>�A�B�L �>�1�J�5�:�B�8�2�=�>

�>�F�5�=�8�B�L �A�>�A�B�>�O�=�8�5 �2�8�=�G�5�A�B�5�@�0.

�-�B�8�< �<�K �A�5�9�G�0�A �8 �7�0�9�<�Q�<�A�O  � �@�0�7�1�5�@�Q�< �2�A�5 �=�0�8�1�>�;�5�5

�8�A�?�>�;�L�7�C�5�<�K�5 �0�B�@�8�1�C�B�K S.M.A.R.T., �?�>�A�<�>�B�@�8�<, �> �G�Q�< �>�=�8

�3�>�2�>�@�O�B �8 �G�B�> �=�C�6�=�> �4�5�;�0�B�L, �5�A�;�8 �>�=�8 �=�5 �2 �?�>�@�O�4�:�5.

���5�@�5�4 �B�5�< �:�0�: �>�?�8�A�K�2�0�B�L �0�B�@�8�1�C�B�K �8 �4�>�?�C�A�B�8�<�K�5 �7�=�0�G�5�=�8�O

�8�E �?�>�;�O RAW, �C�B�>�G�=�N, �G�B�> �0�B�@�8�1�C�B�K �<�>�3�C�B �8�<�5�B�L �?�>�;�5 RAW

�@�0�7�=�>�3�> �B�8�?�0: �B�5�:�C�I�5�5 �8 �=�0�:�0�?�;�8�2�0�N�I�5�5. �"�5�:�C�I�5�5 �?�>�;�5

�A�>�4�5�@�6�8�B �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 �2 �=�0�A�B�>�O�I�8�9 �<�>�<�5�=�B, �4�;�O

�=�5�3�> �A�2�>�9�A�B�2�5�=�=�> �?�5�@�8�>�4�8�G�5�A�:�>�5 �8�7�<�5�=�5�=�8�5 (�4�;�O �>�4�=�8�E

�0�B�@�8�1�C�B�>�2  � �8�7�@�5�4�:�0, �4�;�O �4�@�C�3�8�E  � �<�=�>�3�> �@�0�7 �7�0 �A�5�:�C�=�4�C;

�4�@�C�3�>�5 �4�5�;�>, �G�B�> �2 �?�@�>�3�@�0�<�<�0�E �G�B�5�=�8�O S.M.A.R.T. �B�0�:�>�5

�1�K�A�B�@�>�5 �8�7�<�5�=�5�=�8�5 �=�5 �>�B�>�1�@�0�6�0�5�B�A�O). ���0�:�0�?�;�8�2�0�N�I�5�5

�?�>�;�5  � �A�>�4�5�@�6�8�B �A�B�0�B�8�A�B�8�:�C, �>�1�K�G�=�> �2 �=�Q�< �A�>�4�5�@�6�8�B�A�O

�:�>�;�8�G�5�A�B�2�> �2�>�7�=�8�:�=�>�2�5�=�8�9 �:�>�=�:�@�5�B�=�>�3�> �A�>�1�K�B�8�O �A�>

�2�@�5�<�5�=�8 �?�5�@�2�>�3�> �7�0�?�C�A�:�0 �4�8�A�:�0.

�"�5�:�C�I�8�9 �B�8�? �E�0�@�0�:�B�5�@�5�= �4�;�O �0�B�@�8�1�C�B�>�2, �4�;�O �:�>�B�>�@�K�E �=�5�B

�A�<�K�A�;�0 �A�C�<�<�8�@�>�2�0�B�L �8�E �?�@�5�4�K�4�C�I�8�5 �?�>�:�0�7�0�=�8�O. ���0�?�@�8�<�5�@,

�?�>�:�0�7�0�B�5�;�L �B�5�<�?�5�@�0�B�C�@�K �4�8�A�:�0 �O�2�;�O�5�B�A�O �B�5�:�C�I�8�<: �5�3�>

�F�5�;�L  � �2 �4�5�<�>�=�A�B�@�0�F�8�8 �B�5�<�?�5�@�0�B�C�@�K �2 �=�0�A�B�>�O�I�8�9 �<�>�<�5�=�B,

�0 �=�5 �A�C�<�<�K �2�A�5�E �?�@�5�4�K�4�C�I�8�E �B�5�<�?�5�@�0�B�C�@. ���0�:�0�?�;�8�2�0�N�I�8�9

�B�8�? �A�2�>�9�A�B�2�5�=�5�= �0�B�@�8�1�C�B�0�<, �4�;�O �:�>�B�>�@�K�E �2�5�A�L �8�E �A�<�K�A�;

�7�0�:�;�N�G�0�5�B�A�O �2 �?�@�5�4�>�A�B�0�2�;�5�=�8�8 �8�=�D�>�@�<�0�F�8�8 �7�0 �2�5�A�L

�?�5�@�8�>�4 �«�6�8�7�=�8�» �2�8�=�G�5�A�B�5�@�0. ���0�?�@�8�<�5�@, �0�B�@�8�1�C�B,

�E�0�@�0�:�B�5�@�8�7�C�N�I�8�9 �2�@�5�<�O �@�0�1�>�B�K �4�8�A�:�0, �O�2�;�O�5�B�A�O
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�=�0�:�0�?�;�8�2�0�N�I�8�<, �B. 	�5. �A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �5�4�8�=�8�F

�2�@�5�<�5�=�8, �>�B�@�0�1�>�B�0�=�=�K�E �=�0�:�>�?�8�B�5�;�5�< �7�0 �2�A�N �5�3�> �8�A�B�>�@�8�N.

���@�8�A�B�C�?�8�< �: �@�0�A�A�<�>�B�@�5�=�8�N �0�B�@�8�1�C�B�>�2 �8 �8�E RAW-�?�>�;�5�9.

���B�@�8�1�C�B: 01 Raw Read Error Rate

�"�8�?	�B�5�:�C�I�8�9, �<�>�6�5�B �1�K�B�L �=�0�:�0�?�;�8�2�0�N�I�8�< �4�;�O WD �8 �A�B�0�@�K�E Hitachi

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �G�0�A�B�>�B�C �2�>�7�=�8�:�=�>�2�5�=�8�O �>�H�8�1�>�: �?�@�8

�G�B�5�=�8�8 �A �?�;�0�A�B�8�=.

���;�O �2�A�5�E �4�8�A�:�>�2 Seagate, Samsung (�=�0�G�8�=�0�O �A �A�5�<�5�9�A�B�2�0 SpinPoint F1

(�2�:�;�N�G�8�B�5�;�L�=�>)) �8 Fujitsu 2,5 3 �E�0�@�0�:�B�5�@�=�K �>�3�@�>�<�=�K�5 �G�8�A�;�0 �2

�M�B�8�E �?�>�;�O�E.

���;�O �>�A�B�0�;�L�=�K�E �4�8�A�:�>�2 Samsung �8 �2�A�5�E �4�8�A�:�>�2 WD �2 �M�B�>�< �?�>�;�5

�E�0�@�0�:�B�5�@�5�= 0.

���;�O �4�8�A�:�>�2 Hitachi �2 �M�B�>�< �?�>�;�5 �E�0�@�0�:�B�5�@�5�= 0 �;�8�1�>

�?�5�@�8�>�4�8�G�5�A�:�>�5 �8�7�<�5�=�5�=�8�5 �?�>�;�O �2 �?�@�5�4�5�;�0�E �>�B 0 �4�>

�=�5�A�:�>�;�L�:�8�E �5�4�8�=�8�F.

�"�0�:�8�5 �>�B�;�8�G�8�O �>�1�C�A�;�>�2�;�5�=�K �B�5�<, �G�B�> �2�A�5 �6�Q�A�B�:�8�5 �4�8�A�:�8 Seagate,

�=�5�:�>�B�>�@�K�5 Samsung �8 Fujitsu �A�G�8�B�0�N�B �7�=�0�G�5�=�8�O �M�B�8�E �?�0�@�0�<�5�B�@�>�2

�=�5 �B�0�:, �:�0�: WD, Hitachi �8 �4�@�C�3�8�5 Samsung. ���@�8 �@�0�1�>�B�5 �;�N�1�>�3�>

�2�8�=�G�5�A�B�5�@�0 �2�A�5�3�4�0 �2�>�7�=�8�:�0�N�B �>�H�8�1�:�8 �B�0�:�>�3�> �@�>�4�0, �8 �>�=

�?�@�5�>�4�>�;�5�2�0�5�B �8�E �A�0�<�>�A�B�>�O�B�5�;�L�=�>, �M�B�> �=�>�@�<�0�;�L�=�>,

�?�@�>�A�B�> �=�0 �4�8�A�:�0�E, �:�>�B�>�@�K�5 �2 �M�B�>�< �?�>�;�5 �A�>�4�5�@�6�0�B 0 �8�;�8

�=�5�1�>�;�L�H�>�5 �G�8�A�;�>, �?�@�>�8�7�2�>�4�8�B�5�;�L �=�5 �A�G�Q�; �=�C�6�=�K�<

�C�:�0�7�K�2�0�B�L �8�A�B�8�=�=�>�5 �:�>�;�8�G�5�A�B�2�> �M�B�8�E �>�H�8�1�>�:.

�"�0�:�8�< �>�1�@�0�7�>�<, �=�5�=�C�;�5�2�>�9 �?�0�@�0�<�5�B�@ �=�0 �4�8�A�:�0�E WD �8 Samsung �4�>

SpinPoint F1 (�=�5 �2�:�;�N�G�8�B�5�;�L�=�>) �8 �1�>�;�L�H�>�5 �7�=�0�G�5�=�8�5 �?�0�@�0�<�5�B�@�0

�=�0 �4�8�A�:�0�E Hitachi �<�>�3�C�B �C�:�0�7�K�2�0�B�L �=�0 �0�?�?�0�@�0�B�=�K�5 �?�@�>�1�;�5�<�K �A

�4�8�A�:�>�<. ���5�>�1�E�>�4�8�<�> �C�G�8�B�K�2�0�B�L, �G�B�> �C�B�8�;�8�B�K �<�>�3�C�B

�>�B�>�1�@�0�6�0�B�L �=�5�A�:�>�;�L�:�> �7�=�0�G�5�=�8�9, �A�>�4�5�@�6�0�I�8�E�A�O �2 �?�>�;�5

RAW �M�B�>�3�> �0�B�@�8�1�C�B�0, �:�0�: �>�4�=�>, �8 �>�=�> �1�C�4�5�B �2�K�3�;�O�4�5�B�L

�2�5�A�L�<�0 �1�>�;�L�H�8�<, �E�>�B�L �M�B�> �8 �1�C�4�5�B �=�5�2�5�@�=�>

(�?�>�4�@�>�1�=�>�A�B�8 �A�<. �=�8�6�5).

���0 �4�8�A�:�0�E Seagate, Samsung (SpinPoint F1 �8 �=�>�2�5�5) �8 Fujitsu �=�0 �M�B�>�B �0�B�@�8�1�C�B

�<�>�6�=�> �=�5 �>�1�@�0�I�0�B�L �2�=�8�<�0�=�8�O.

���B�@�8�1�C�B: 02 Throughput Performance

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �7�=�0�G�5�=�8�5 �A�@�5�4�=�5�9

�?�@�>�8�7�2�>�4�8�B�5�;�L�=�>�A�B�8 �4�8�A�:�0 �8 �8�7�<�5�@�O�5�B�A�O �2 �:�0�:�8�E-�B�>

�«�?�>�?�C�3�0�O�E�». ���1�K�G�=�> �5�3�> �=�5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5

�>�B�<�5�G�0�5�B�A�O �=�0 �2�8�=�G�5�A�B�5�@�0�E Hitachi. ���0 �=�8�E �>�= �<�>�6�5�B

�8�7�<�5�=�O�B�L�A�O �?�>�A�;�5 �8�7�<�5�=�5�=�8�O �?�0�@�0�<�5�B�@�>�2 ������, �0 �<�>�6�5�B �8

�A�0�< �?�> �A�5�1�5 �?�> �=�5�8�7�2�5�A�B�=�>�<�C �0�;�3�>�@�8�B�<�C

���0�@�0�<�5�B�@ �=�5 �4�0�Q�B �=�8�:�0�:�>�9 �8�=�D�>�@�<�0�F�8�8 �?�>�;�L�7�>�2�0�B�5�;�N �8 �=�5
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�3�>�2�>�@�8�B �=�8 �> �:�0�:�>�9 �>�?�0�A�=�>�A�B�8 �?�@�8 �;�N�1�>�< �A�2�>�Q�< �7�=�0�G�5�=�8�8.

���B�@�8�1�C�B: 03 Spin-Up Time

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �2�@�5�<�O, �7�0 �:�>�B�>�@�>�5 �H�?�8�=�4�5�;�L �4�8�A�:�0 �2

�?�>�A�;�5�4�=�8�9 �@�0�7 �@�0�7�>�3�=�0�;�A�O �8�7 �A�>�A�B�>�O�=�8�O �?�>�:�>�O �4�>

�=�>�<�8�=�0�;�L�=�>�9 �A�:�>�@�>�A�B�8. ���>�6�5�B �A�>�4�5�@�6�0�B�L �4�2�0 �7�=�0�G�5�=�8�O

 � �?�>�A�;�5�4�=�5�5 �8, �=�0�?�@�8�<�5�@, �<�8�=�8�<�0�;�L�=�>�5 �2�@�5�<�O �@�0�A�:�@�C�B�:�8.

���>�6�5�B �8�7�<�5�@�O�B�L�A�O �2 �<�8�;�;�8�A�5�:�C�=�4�0�E, �4�5�A�O�B�:�0�E

�<�8�;�;�8�A�5�:�C�=�4 �8 �B. 	�?.  � �M�B�> �7�0�2�8�A�8�B �>�B �?�@�>�8�7�2�>�4�8�B�5�;�O �8

�<�>�4�5�;�8 �4�8�A�:�0

���@�5�<�O �@�0�7�3�>�=�0 �<�>�6�5�B �@�0�7�;�8�G�0�B�L�A�O �C �@�0�7�=�K�E �4�8�A�:�>�2

(�?�@�8�G�Q�< �C �4�8�A�:�>�2 �>�4�=�>�3�> �?�@�>�8�7�2�>�4�8�B�5�;�O �B�>�6�5) �2

�7�0�2�8�A�8�<�>�A�B�8 �>�B �B�>�:�0 �@�0�A�:�@�C�B�:�8, �<�0�A�A�K �1�;�8�=�>�2,

�=�>�<�8�=�0�;�L�=�>�9 �A�:�>�@�>�A�B�8 �H�?�8�=�4�5�;�O �8 �B. 	�?.

���A�B�0�B�8, �2�8�=�G�5�A�B�5�@�K Fujitsu �2�A�5�3�4�0 �8�<�5�N�B �5�4�8�=�8�F�C �2 �M�B�>�< �?�>�;�5 �2

�A�;�C�G�0�5 �>�B�A�C�B�A�B�2�8�O �?�@�>�1�;�5�< �A �@�0�A�:�@�C�B�:�>�9 �H�?�8�=�4�5�;�O.

���@�0�:�B�8�G�5�A�:�8 �=�8�G�5�3�> �=�5 �3�>�2�>�@�8�B �> �7�4�>�@�>�2�L�5 �4�8�A�:�0,

�?�>�M�B�>�<�C �?�@�8 �>�F�5�=�:�5 �A�>�A�B�>�O�=�8�O �2�8�=�G�5�A�B�5�@�0 �=�0 �?�0�@�0�<�5�B�@

�<�>�6�=�> �=�5 �>�1�@�0�I�0�B�L �2�=�8�<�0�=�8�O.

���B�@�8�1�C�B: 04 Number of Spin-Up Times (Start/Stop Count)

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �@�0�7 �2�:�;�N�G�5�=�8�O �4�8�A�:�0. ���K�2�0�5�B

�=�5�=�C�;�5�2�K�< �=�0 �B�>�;�L�:�> �G�B�> �:�C�?�;�5�=�=�>�< �4�8�A�:�5,

�=�0�E�>�4�8�2�H�5�<�A�O �2 �7�0�?�0�O�=�=�>�9 �C�?�0�:�>�2�:�5, �G�B�> �<�>�6�5�B

�3�>�2�>�@�8�B�L �> �B�5�A�B�8�@�>�2�0�=�8�8 �4�8�A�:�0 �=�0 �7�0�2�>�4�5. ���;�8 �5�I�Q �> �G�Q�<-�B�>,

�<�=�5 �=�5 �8�7�2�5�A�B�=�>�< 

���@�8 �>�F�5�=�:�5 �7�4�>�@�>�2�L�O �=�5 �>�1�@�0�I�0�9�B�5 �=�0 �0�B�@�8�1�C�B �2�=�8�<�0�=�8�O.

���B�@�8�1�C�B: 05 Reallocated Sector Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �A�5�:�B�>�@�>�2,

�?�5�@�5�=�0�7�=�0�G�5�=�=�K�E �2�8�=�G�5�A�B�5�@�>�< �2 �@�5�7�5�@�2�=�C�N �>�1�;�0�A�B�L.

���@�0�:�B�8�G�5�A�:�8 �:�;�N�G�5�2�>�9 �?�0�@�0�<�5�B�@ �2 �>�F�5�=�:�5 �A�>�A�B�>�O�=�8�O.

���>�O�A�=�8�<, �G�B�> �2�>�>�1�I�5 �B�0�:�>�5 �«�?�5�@�5�=�0�7�=�0�G�5�=�=�K�9 �A�5�:�B�>�@�».

���>�3�4�0 �4�8�A�: �2 �?�@�>�F�5�A�A�5 �@�0�1�>�B�K �=�0�B�K�:�0�5�B�A�O �=�0

�=�5�G�8�B�0�5�<�K�9/�?�;�>�E�> �G�8�B�0�5�<�K�9/�=�5�7�0�?�8�A�K�2�0�5�<�K�9/�?�;�>�E�>

�7�0�?�8�A�K�2�0�5�<�K�9 �A�5�:�B�>�@, �>�= �<�>�6�5�B �?�>�A�G�8�B�0�B�L �5�3�>

�=�5�2�>�A�?�>�;�=�8�<�> �?�>�2�@�5�6�4�Q�=�=�K�<. �!�?�5�F�8�0�;�L�=�> �4�;�O �B�0�:�8�E

�A�;�C�G�0�5�2 �?�@�>�8�7�2�>�4�8�B�5�;�L �?�@�5�4�C�A�<�0�B�@�8�2�0�5�B �=�0 �:�0�6�4�>�< �4�8�A�:�5

(�=�0 �:�0�:�8�E-�B�> �<�>�4�5�;�O�E  � �2 �F�5�=�B�@�5 (�;�>�3�8�G�5�A�:�>�< �:�>�=�F�5)

�4�8�A�:�0, �=�0 �:�0�:�8�E-�B�>  � �2 �:�>�=�F�5 �:�0�6�4�>�3�> �B�@�5�:�0 �8 �B. 	�4.)
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�@�5�7�5�@�2�=�C�N �>�1�;�0�A�B�L. ���@�8 �=�0�;�8�G�8�8 �?�>�2�@�5�6�4�Q�=�=�>�3�> �A�5�:�B�>�@�0

�4�8�A�: �?�>�<�5�G�0�5�B �5�3�> �:�0�: �=�5�G�8�B�0�5�<�K�9 �8 �8�A�?�>�;�L�7�C�5�B �2�<�5�A�B�>

�=�5�3�> �A�5�:�B�>�@ �2 �@�5�7�5�@�2�=�>�9 �>�1�;�0�A�B�8, �A�4�5�;�0�2

�A�>�>�B�2�5�B�A�B�2�C�N�I�8�5 �?�>�<�5�B�:�8 �2 �A�?�5�F�8�0�;�L�=�>�< �A�?�8�A�:�5

�4�5�D�5�:�B�>�2 �?�>�2�5�@�E�=�>�A�B�8  � G-list. �"�0�:�0�O �>�?�5�@�0�F�8�O �?�>

�=�0�7�=�0�G�5�=�8�N �=�>�2�>�3�> �A�5�:�B�>�@�0 �=�0 �@�>�;�L �A�B�0�@�>�3�>

�=�0�7�K�2�0�5�B�A�O remap (�@�5�<�0�?) �;�8�1�> �?�5�@�5�=�0�7�=�0�G�5�=�8�5, �0

�8�A�?�>�;�L�7�C�5�<�K�9 �2�<�5�A�B�> �?�>�2�@�5�6�4�Q�=�=�>�3�> �A�5�:�B�>�@  �

�?�5�@�5�=�0�7�=�0�G�5�=�=�K�<. ���>�2�K�9 �A�5�:�B�>�@ �?�>�;�C�G�0�5�B �;�>�3�8�G�5�A�:�8�9

�=�>�<�5�@ LBA �A�B�0�@�>�3�>, �8 �B�5�?�5�@�L �?�@�8 �>�1�@�0�I�5�=�8�8 ���� �: �A�5�:�B�>�@�C �A

�M�B�8�< �=�>�<�5�@�>�< (�?�@�>�3�@�0�<�<�K �6�5 �=�5 �7�=�0�N�B �=�8 �> �:�0�:�8�E

�?�5�@�5�=�0�7�=�0�G�5�=�8�O�E!) �7�0�?�@�>�A �1�C�4�5�B �?�5�@�5�=�0�?�@�0�2�;�O�B�L�A�O �2

�@�5�7�5�@�2�=�C�N �>�1�;�0�A�B�L.

�"�0�:�8�< �>�1�@�0�7�>�<, �E�>�B�L �A�5�:�B�>�@ �8 �2�K�H�5�; �8�7 �A�B�@�>�O, �>�1�J�Q�< �4�8�A�:�0

�=�5 �8�7�<�5�=�O�5�B�A�O. ���>�=�O�B�=�>, �G�B�> �=�5 �8�7�<�5�=�O�5�B�A�O �>�= �4�> �?�>�@�K �4�>

�2�@�5�<�5�=�8, �B. 	�:. �>�1�J�Q�< �@�5�7�5�@�2�=�>�9 �>�1�;�0�A�B�8 �=�5 �1�5�A�:�>�=�5�G�5�=.

���4�=�0�:�> �@�5�7�5�@�2�=�0�O �>�1�;�0�A�B�L �2�?�>�;�=�5 �<�>�6�5�B �A�>�4�5�@�6�0�B�L

�=�5�A�:�>�;�L�:�> �B�K�A�O�G �A�5�:�B�>�@�>�2, �8 �4�>�?�C�A�B�8�B�L, �G�B�>�1�K �>�=�0

�7�0�:�>�=�G�8�;�0�A�L, �1�C�4�5�B �2�5�A�L�<�0 �1�5�7�>�B�2�5�B�A�B�2�5�=�=�>  � �4�8�A�:

�=�C�6�=�> �1�C�4�5�B �7�0�<�5�=�8�B�L �7�0�4�>�;�3�> �4�> �M�B�>�3�>.

���A�B�0�B�8, �@�5�<�>�=�B�=�8�:�8 �3�>�2�>�@�O�B, �G�B�> �4�8�A�:�8 Samsung �>�G�5�=�L �G�0�A�B�>

�=�8 �2 �:�0�:�C�N �=�5 �E�>�B�O�B �2�K�?�>�;�=�O�B�L �?�5�@�5�=�0�7�=�0�G�5�=�8�5

�A�5�:�B�>�@�>�2.

���0 �A�G�Q�B �M�B�>�3�> �0�B�@�8�1�C�B�0 �<�=�5�=�8�O �@�0�7�=�O�B�A�O. ���8�G�=�> �O �A�G�8�B�0�N,

�G�B�> �5�A�;�8 �>�= �4�>�A�B�8�3 10, �4�8�A�: �=�C�6�=�> �>�1�O�7�0�B�5�;�L�=�> �<�5�=�O�B�L  �

�2�5�4�L �M�B�> �>�7�=�0�G�0�5�B �?�@�>�3�@�5�A�A�8�@�C�N�I�8�9 �?�@�>�F�5�A�A �4�5�3�@�0�4�0�F�8�8

�A�>�A�B�>�O�=�8�O �?�>�2�5�@�E�=�>�A�B�8 �;�8�1�> �1�;�8�=�>�2, �;�8�1�> �3�>�;�>�2�>�:,

�;�8�1�> �G�5�3�>-�B�> �5�I�Q �0�?�?�0�@�0�B�=�>�3�>, �8 �>�A�B�0�=�>�2�8�B�L �M�B�>�B

�?�@�>�F�5�A�A �2�>�7�<�>�6�=�>�A�B�8 �C�6�5 �=�5�B. ���A�B�0�B�8, �?�> �A�2�5�4�5�=�8�O�< �;�8�F,

�?�@�8�1�;�8�6�5�=�=�K�E �: Hitachi, �A�0�<�0 Hitachi �A�G�8�B�0�5�B �4�8�A�: �?�>�4�;�5�6�0�I�8�<

�7�0�<�5�=�5, �:�>�3�4�0 �=�0 �=�Q�< �=�0�E�>�4�8�B�A�O �C�6�5 5 �?�5�@�5�=�0�7�=�0�G�5�=�=�K�E

�A�5�:�B�>�@�>�2. ���@�C�3�>�9 �2�>�?�@�>�A, �>�D�8�F�8�0�;�L�=�0�O �;�8 �M�B�0 �8�=�D�>�@�<�0�F�8�O,

�8 �A�;�5�4�C�N�B �;�8 �M�B�>�<�C �<�=�5�=�8�N �A�5�@�2�8�A-�F�5�=�B�@�K. �'�B�>-�B�> �<�=�5

�?�>�4�A�:�0�7�K�2�0�5�B, �G�B�> �=�5�B 

���@�C�3�>�5 �4�5�;�>, �G�B�> �A�>�B�@�C�4�=�8�:�8 �A�5�@�2�8�A-�F�5�=�B�@�>�2 �<�>�3�C�B

�>�B�:�0�7�K�2�0�B�L�A�O �?�@�8�7�=�0�2�0�B�L �4�8�A�: �=�5�8�A�?�@�0�2�=�K�<, �5�A�;�8

�D�8�@�<�5�=�=�0�O �C�B�8�;�8�B�0 �?�@�>�8�7�2�>�4�8�B�5�;�O �4�8�A�:�0 �?�8�H�5�B �G�B�>-�B�>

�2�@�>�4�5 �«S.M.A.R.T. Status: Good�» �8�;�8 �7�=�0�G�5�=�8�O Value �;�8�1�> Worst �0�B�@�8�1�C�B�0

�1�C�4�C�B �1�>�;�L�H�5 Threshold (�A�>�1�A�B�2�5�=�=�>, �?�> �B�0�:�>�<�C �:�@�8�B�5�@�8�N

�<�>�6�5�B �>�F�5�=�8�2�0�B�L �8 �A�0�<�0 �C�B�8�;�8�B�0 �?�@�>�8�7�2�>�4�8�B�5�;�O). ��

�D�>�@�<�0�;�L�=�> �>�=�8 �1�C�4�C�B �?�@�0�2�K. ���> �:�>�<�C �=�C�6�5�= �4�8�A�: �A

�?�>�A�B�>�O�=�=�K�< �C�E�C�4�H�5�=�8�5�< �5�3�> �0�?�?�0�@�0�B�=�K�E �:�>�<�?�>�=�5�=�B�>�2,

�4�0�6�5 �5�A�;�8 �B�0�:�>�5 �C�E�C�4�H�5�=�8�5 �A�>�>�B�2�5�B�A�B�2�C�5�B �?�@�8�@�>�4�5

�2�8�=�G�5�A�B�5�@�0, �0 �B�5�E�=�>�;�>�3�8�O �?�@�>�8�7�2�>�4�A�B�2�0 �6�Q�A�B�:�8�E �4�8�A�:�>�2

�A�B�0�@�0�5�B�A�O �<�8�=�8�<�8�7�8�@�>�2�0�B�L �5�3�> �?�>�A�;�5�4�A�B�2�8�O, �2�K�4�5�;�O�O,

�=�0�?�@�8�<�5�@, �@�5�7�5�@�2�=�C�N �>�1�;�0�A�B�L?
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���B�@�8�1�C�B: 07 Seek Error Rate

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �G�0�A�B�>�B�C �2�>�7�=�8�:�=�>�2�5�=�8�O �>�H�8�1�>�: �?�@�8

�?�>�7�8�F�8�>�=�8�@�>�2�0�=�8�8 �1�;�>�:�0 �<�0�3�=�8�B�=�K�E �3�>�;�>�2�>�: (������)

���?�8�A�0�=�8�5 �D�>�@�<�8�@�>�2�0�=�8�O �M�B�>�3�> �0�B�@�8�1�C�B�0 �?�>�G�B�8

�?�>�;�=�>�A�B�L�N �A�>�2�?�0�4�0�5�B �A �>�?�8�A�0�=�8�5�< �4�;�O �0�B�@�8�1�C�B�0 01 Raw Read Error

Rate, �7�0 �8�A�:�;�N�G�5�=�8�5�< �B�>�3�>, �G�B�> �4�;�O �2�8�=�G�5�A�B�5�@�>�2 Hitachi

�=�>�@�<�0�;�L�=�K�< �7�=�0�G�5�=�8�5�< �?�>�;�O RAW �O�2�;�O�5�B�A�O �B�>�;�L�:�> 0.

�"�0�:�8�< �>�1�@�0�7�>�<, �=�0 �0�B�@�8�1�C�B �=�0 �4�8�A�:�0�E Seagate, Samsung SpinPoint F1 �8

�=�>�2�5�5 �8 Fujitsu 2,5 3 �=�5 �>�1�@�0�I�0�9�B�5 �2�=�8�<�0�=�8�O, �=�0 �>�A�B�0�;�L�=�K�E

�<�>�4�5�;�O�E Samsung, �0 �B�0�:�6�5 �=�0 �2�A�5�E WD �8 Hitachi �=�5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5

�A�2�8�4�5�B�5�;�L�A�B�2�C�5�B �> �?�@�>�1�;�5�<�0�E, �=�0�?�@�8�<�5�@, �A �?�>�4�H�8�?�=�8�:�>�<

�8 �B. 	�?.

���B�@�8�1�C�B: 08 Seek Time Performance

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �A�@�5�4�=�N�N �?�@�>�8�7�2�>�4�8�B�5�;�L�=�>�A�B�L

�>�?�5�@�0�F�8�9 �?�>�7�8�F�8�>�=�8�@�>�2�0�=�8�O �3�>�;�>�2�>�:, �8�7�<�5�@�O�5�B�A�O �2

�«�?�>�?�C�3�0�O�E�». ���0�: �8 �?�0�@�0�<�5�B�@ 02 Throughput Performance, �=�5�=�C�;�5�2�>�5

�7�=�0�G�5�=�8�5 �>�1�K�G�=�> �>�B�<�5�G�0�5�B�A�O �=�0 �4�8�A�:�0�E Hitachi �8 �<�>�6�5�B

�8�7�<�5�=�O�B�L�A�O �?�>�A�;�5 �8�7�<�5�=�5�=�8�O �?�0�@�0�<�5�B�@�>�2 ������, �0 �<�>�6�5�B �8

�A�0�<�> �?�> �A�5�1�5 �?�> �=�5�8�7�2�5�A�B�=�>�<�C �0�;�3�>�@�8�B�<�C

���5 �4�0�Q�B �=�8�:�0�:�>�9 �8�=�D�>�@�<�0�F�8�8 �?�>�;�L�7�>�2�0�B�5�;�N �8 �=�5 �3�>�2�>�@�8�B

�=�8 �> �:�0�:�>�9 �>�?�0�A�=�>�A�B�8 �?�@�8 �;�N�1�>�< �A�2�>�Q�< �7�=�0�G�5�=�8�8.

���B�@�8�1�C�B: 09 Power On Hours Count (Power-on Time)

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �G�0�A�>�2, �2 �B�5�G�5�=�8�5 �:�>�B�>�@�K�E

�2�8�=�G�5�A�B�5�@ �1�K�; �2�:�;�N�G�Q�=

���8�G�5�3�> �=�5 �3�>�2�>�@�8�B �> �7�4�>�@�>�2�L�5 �4�8�A�:�0.

���B�@�8�1�C�B: 10 (0��  � �2 �H�5�A�B�=�0�4�F�0�B�5�@�8�G�=�>�9 �A�8�A�B�5�<�5 �A�G�8�A�;�5�=�8�O) Spin

Retry Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �?�>�2�B�>�@�>�2 �7�0�?�C�A�:�0

�H�?�8�=�4�5�;�O, �5�A�;�8 �?�5�@�2�0�O �?�>�?�K�B�:�0 �>�:�0�7�0�;�0�A�L �=�5�C�4�0�G�=�>�9

�� �7�4�>�@�>�2�L�5 �4�8�A�:�0 �G�0�I�5 �2�A�5�3�> �=�5 �3�>�2�>�@�8�B.

���A�=�>�2�=�K�5 �?�@�8�G�8�=�K �C�2�5�;�8�G�5�=�8�O �?�0�@�0�<�5�B�@�0  � �?�;�>�E�>�9
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�:�>�=�B�0�:�B �4�8�A�:�0 �A ���� �8�;�8 �=�5�2�>�7�<�>�6�=�>�A�B�L ���� �2�K�4�0�B�L �=�C�6�=�K�9

�B�>�: �2 �;�8�=�8�N �?�8�B�0�=�8�O �4�8�A�:�0.

�� �8�4�5�0�;�5 �4�>�;�6�5�= �1�K�B�L �@�0�2�5�= 0. ���@�8 �7�=�0�G�5�=�8�8 �0�B�@�8�1�C�B�0,

�@�0�2�=�>�< 1-2, �2�=�8�<�0�=�8�O �<�>�6�=�> �=�5 �>�1�@�0�I�0�B�L. ���A�;�8 �7�=�0�G�5�=�8�5

�1�>�;�L�H�5, �2 �?�5�@�2�C�N �>�G�5�@�5�4�L �A�;�5�4�C�5�B �>�1�@�0�B�8�B�L

�?�@�8�A�B�0�;�L�=�>�5 �2�=�8�<�0�=�8�5 �=�0 �A�>�A�B�>�O�=�8�5 �1�;�>�:�0 �?�8�B�0�=�8�O, �5�3�>

�:�0�G�5�A�B�2�>, �=�0�3�@�C�7�:�C �=�0 �=�5�3�>, �?�@�>�2�5�@�8�B�L �:�>�=�B�0�:�B

�2�8�=�G�5�A�B�5�@�0 �A �:�0�1�5�;�5�< �?�8�B�0�=�8�O, �?�@�>�2�5�@�8�B�L �A�0�< �:�0�1�5�;�L

�?�8�B�0�=�8�O.

���0�2�5�@�=�O�:�0 �4�8�A�: �<�>�6�5�B �A�B�0�@�B�>�2�0�B�L �=�5 �A�@�0�7�C �8�7-�7�0 �?�@�>�1�;�5�< �A

�=�8�< �A�0�<�8�<, �=�> �B�0�:�>�5 �1�K�2�0�5�B �>�G�5�=�L �@�5�4�:�>, �8 �B�0�:�C�N

�2�>�7�<�>�6�=�>�A�B�L �=�C�6�=�> �@�0�A�A�<�0�B�@�8�2�0�B�L �2 �?�>�A�;�5�4�=�N�N

�>�G�5�@�5�4�L.

���B�@�8�1�C�B: 11 (0B) Calibration Retry Count (Recalibration Retries)

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �?�>�2�B�>�@�=�K�E �?�>�?�K�B�>�:

�A�1�@�>�A�0 �=�0�:�>�?�8�B�5�;�O (�C�A�B�0�=�>�2�:�8 ������ �=�0 �=�C�;�5�2�C�N �4�>�@�>�6�:�C)

�?�@�8 �=�5�C�4�0�G�=�>�9 �?�5�@�2�>�9 �?�>�?�K�B�:�5

���5�=�C�;�5�2�>�5, �0 �>�A�>�1�5�=�=�> �@�0�A�B�C�I�5�5 �7�=�0�G�5�=�8�5 �?�0�@�0�<�5�B�@�0

�<�>�6�5�B �>�7�=�0�G�0�B�L �?�@�>�1�;�5�<�K �A �4�8�A�:�>�<.

���B�@�8�1�C�B: 12 (0C) Power Cycle Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �?�>�;�=�K�E �F�8�:�;�>�2

�«�2�:�;�N�G�5�=�8�5-�>�B�:�;�N�G�5�=�8�5�» �4�8�A�:�0

���5 �A�2�O�7�0�= �A �A�>�A�B�>�O�=�8�5�< �4�8�A�:�0.

���B�@�8�1�C�B: 161 - Valid Spare Blocks

�!�>�4�5�@�6�8�B �>�A�B�0�2�H�8�9�A�O �?�@�>�F�5�=�B �7�0�?�0�A�=�K�E �1�;�>�:�>�2,

�4�>�A�B�C�?�=�K�E �=�0 �B�2�5�@�4�>�B�5�;�L�=�>�< �C�A�B�@�>�9�A�B�2�5. ���@�>�F�5�=�B

�=�0�G�8�=�0�5�B�A�O �A�> 100% �8 �>�1�K�G�=�> �C�<�5�=�L�H�0�5�B�A�O �4�> 0% �2�> �2�@�5�<�O

�8�A�?�>�;�L�7�>�2�0�=�8�O. ���A�;�8 �M�B�>�B �0�B�@�8�1�C�B �4�>�A�B�8�3�0�5�B 0%,

�B�2�5�@�4�>�B�5�;�L�=�>�5 �C�A�B�@�>�9�A�B�2�> �A�B�0�=�>�2�8�B�A�O �4�>�A�B�C�?�=�K�<

�B�>�;�L�:�> �4�;�O �G�B�5�=�8�O. ���A�E�>�4�=�>�5 �7�=�0�G�5�=�8�5 �M�B�>�3�> �0�B�@�8�1�C�B�0

�<�>�6�5�B �A�>�4�5�@�6�0�B�L �D�0�:�B�8�G�5�A�:�>�5 �:�>�;�8�G�5�A�B�2�> �7�0�?�0�A�=�K�E

�1�;�>�:�>�2.

���B�@�8�1�C�B: 183 (B7) SATA Downshift Error Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �=�5�C�4�0�G�=�K�E �?�>�?�K�B�>�:

�?�>�=�8�6�5�=�8�O �@�5�6�8�<�0 SATA. �!�C�B�L �2 �B�>�<, �G�B�> �2�8�=�G�5�A�B�5�@,
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�@�0�1�>�B�0�N�I�8�9 �2 �@�5�6�8�<�0�E SATA 3 ���1�8�B/�A �8�;�8 6 ���1�8�B/�A (�8 �G�B�> �B�0�<

�4�0�;�L�H�5 �1�C�4�5�B �2 �1�C�4�C�I�5�<), �?�> �:�0�:�>�9-�B�> �?�@�8�G�8�=�5 (�=�0�?�@�8�<�5�@,

�8�7-�7�0 �>�H�8�1�>�:) �<�>�6�5�B �?�>�?�K�B�0�B�L�A�O �«�4�>�3�>�2�>�@�8�B�L�A�O�» �A

�4�8�A�:�>�2�K�< �:�>�=�B�@�>�;�;�5�@�>�< �> �<�5�=�5�5 �A�:�>�@�>�A�B�=�>�< �@�5�6�8�<�5

(�=�0�?�@�8�<�5�@, SATA 1,5 ���1�8�B/�A �8�;�8 3 ���1�8�B/�A �A�>�>�B�2�5�B�A�B�2�5�=�=�>). �� �A�;�C�G�0�5

�«�>�B�:�0�7�0�» �:�>�=�B�@�>�;�;�5�@�0 �8�7�<�5�=�O�B�L �@�5�6�8�< �4�8�A�: �C�2�5�;�8�G�8�2�0�5�B

�7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0

���5 �3�>�2�>�@�8�B �> �7�4�>�@�>�2�L�5 �=�0�:�>�?�8�B�5�;�O.

���B�@�8�1�C�B: 184 (B8) End-to-End Error

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �>�H�8�1�>�:, �2�>�7�=�8�:�H�8�E �?�@�8

�?�5�@�5�4�0�G�5 �4�0�=�=�K�E �G�5�@�5�7 �:�M�H �2�8�=�G�5�A�B�5�@�0

���5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5 �C�:�0�7�K�2�0�5�B �=�0 �?�@�>�1�;�5�<�K �A �4�8�A�:�>�<.

���B�@�8�1�C�B: 187 (BB) Reported Uncorrected Sector Count (UNC Error)

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �A�5�:�B�>�@�>�2, �:�>�B�>�@�K�5 �1�K�;�8

�?�@�8�7�=�0�=�K �:�0�=�4�8�4�0�B�0�<�8 �=�0 �?�5�@�5�=�0�7�=�0�G�5�=�8�5 (�A�<. �0�B�@�8�1�C�B 197)

�7�0 �2�A�N �8�A�B�>�@�8�N �6�8�7�=�8 �4�8�A�:�0. ���@�8�G�Q�< �5�A�;�8 �A�5�:�B�>�@ �A�B�0�=�>�2�8�B�A�O

�:�0�=�4�8�4�0�B�>�< �?�>�2�B�>�@�=�>, �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 �B�>�6�5

�C�2�5�;�8�G�8�2�0�5�B�A�O

���5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 �O�2�=�> �C�:�0�7�K�2�0�5�B �=�0

�=�5�=�>�@�<�0�;�L�=�>�5 �A�>�A�B�>�O�=�8�5 �4�8�A�:�0 (�2 �A�>�G�5�B�0�=�8�8 �A

�=�5�=�C�;�5�2�K�< �7�=�0�G�5�=�8�5�< �0�B�@�8�1�C�B�0 197) �8�;�8 �=�0 �B�>, �G�B�> �>�=�>

�1�K�;�> �B�0�:�>�2�K�< �@�0�=�5�5 (�2 �A�>�G�5�B�0�=�8�8 �A �=�C�;�5�2�K�< �7�=�0�G�5�=�8�5�< 197).

���B�@�8�1�C�B: 188 (BC) Command Timeout

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �>�?�5�@�0�F�8�9, �2�K�?�>�;�=�5�=�8�5

�:�>�B�>�@�K�E �1�K�;�> �>�B�<�5�=�5�=�> �8�7-�7�0 �?�@�5�2�K�H�5�=�8�O �<�0�:�A�8�<�0�;�L�=�>

�4�>�?�C�A�B�8�<�>�3�> �2�@�5�<�5�=�8 �>�6�8�4�0�=�8�O �>�B�:�;�8�:�0

�"�0�:�8�5 �>�H�8�1�:�8 �<�>�3�C�B �2�>�7�=�8�:�0�B�L �8�7-�7�0 �?�;�>�E�>�3�> �:�0�G�5�A�B�2�0

�:�0�1�5�;�5�9, �:�>�=�B�0�:�B�>�2, �8�A�?�>�;�L�7�C�5�<�K�E �?�5�@�5�E�>�4�=�8�:�>�2,

�C�4�;�8�=�8�B�5�;�5�9 �8 �B. 	�4., �0 �B�0�:�6�5 �8�7-�7�0 �=�5�A�>�2�<�5�A�B�8�<�>�A�B�8 �4�8�A�:�0 �A

�:�>�=�:�@�5�B�=�K�< �:�>�=�B�@�>�;�;�5�@�>�< SATA/� ���"�� �=�0 �<�0�B�5�@�8�=�A�:�>�9

�?�;�0�B�5 (�;�8�1�> �4�8�A�:�@�5�B�=�K�<). ���7-�7�0 �>�H�8�1�>�: �B�0�:�>�3�> �@�>�4�0

�2�>�7�<�>�6�=�K BSOD �2 Windows.

���5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 �3�>�2�>�@�8�B �>

�?�>�B�5�=�F�8�0�;�L�=�>�9 �«�1�>�;�5�7�=�8�» �4�8�A�:�0.

https://415.spb.ru/ins/faq/faq.php?0.cat.47
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�!�B�@�0�=�8�F�0 9/15

���B�@�8�1�C�B: 189 (BD) High Fly Writes

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �7�0�D�8�:�A�8�@�>�2�0�=�=�K�E �A�;�C�G�0�5�2

�7�0�?�8�A�8 �?�@�8 �2�K�A�>�B�5 �?�>�;�5�B�0 �3�>�;�>�2�:�8 �2�K�H�5 �@�0�A�A�G�8�B�0�=�=�>�9  �

�A�:�>�@�5�5 �2�A�5�3�>, �8�7-�7�0 �2�=�5�H�=�8�E �2�>�7�4�5�9�A�B�2�8�9, �=�0�?�@�8�<�5�@

�2�8�1�@�0�F�8�8.

���;�O �B�>�3�> �G�B�>�1�K �A�:�0�7�0�B�L, �?�>�G�5�<�C �?�@�>�8�A�E�>�4�O�B �B�0�:�8�5 �A�;�C�G�0�8,

�=�C�6�=�> �C�<�5�B�L �0�=�0�;�8�7�8�@�>�2�0�B�L �;�>�3�8 S.M.A.R.T., �:�>�B�>�@�K�5

�A�>�4�5�@�6�0�B �A�?�5�F�8�D�8�G�=�C�N �4�;�O �:�0�6�4�>�3�> �?�@�>�8�7�2�>�4�8�B�5�;�O

�8�=�D�>�@�<�0�F�8�N, �G�B�> �=�0 �A�5�3�>�4�=�O�H�=�8�9 �4�5�=�L �=�5 �@�5�0�;�8�7�>�2�0�=�> �2

�>�1�I�5�4�>�A�B�C�?�=�>�< ����  � �A�;�5�4�>�2�0�B�5�;�L�=�>, �=�0 �0�B�@�8�1�C�B �<�>�6�=�>

�=�5 �>�1�@�0�I�0�B�L �2�=�8�<�0�=�8�O.

���B�@�8�1�C�B: 190 (BE) Airflow Temperature

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �B�5�<�?�5�@�0�B�C�@�C �2�8�=�G�5�A�B�5�@�0 �4�;�O �4�8�A�:�>�2

Hitachi, Samsung, WD �8 �7�=�0�G�5�=�8�5 �«100 "� [RAW-�7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 194]�» �4�;�O

Seagate

���5 �3�>�2�>�@�8�B �> �A�>�A�B�>�O�=�8�8 �4�8�A�:�0.

���B�@�8�1�C�B: 191 (BF) G-Sensor Shock Count (Mechanical Shock)

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �:�@�8�B�8�G�5�A�:�8�E �C�A�:�>�@�5�=�8�9,

�7�0�D�8�:�A�8�@�>�2�0�=�=�K�E �M�;�5�:�B�@�>�=�8�:�>�9 �4�8�A�:�0, �:�>�B�>�@�K�<

�?�>�4�2�5�@�3�0�;�A�O �=�0�:�>�?�8�B�5�;�L �8 �:�>�B�>�@�K�5 �?�@�5�2�K�H�0�;�8

�4�>�?�C�A�B�8�<�K�5. ���1�K�G�=�> �M�B�> �?�@�>�8�A�E�>�4�8�B �?�@�8 �C�4�0�@�0�E,

�?�0�4�5�=�8�O�E �8 �B. 	�?.

���:�B�C�0�;�5�= �4�;�O �<�>�1�8�;�L�=�K�E �2�8�=�G�5�A�B�5�@�>�2. ���0 �4�8�A�:�0�E Samsung �=�0

�=�5�3�> �G�0�A�B�> �<�>�6�=�> �=�5 �>�1�@�0�I�0�B�L �2�=�8�<�0�=�8�O, �B. 	�:. �>�=�8

�<�>�3�C�B �8�<�5�B�L �>�G�5�=�L �G�C�2�A�B�2�8�B�5�;�L�=�K�9 �4�0�B�G�8�:, �:�>�B�>�@�K�9,

�>�1�@�0�7�=�> �3�>�2�>�@�O, �@�5�0�3�8�@�C�5�B �G�C�B�L �;�8 �=�5 �=�0 �4�2�8�6�5�=�8�5

�2�>�7�4�C�E�0 �>�B �:�@�K�;�L�5�2 �?�@�>�;�5�B�0�N�I�5�9 �2 �>�4�=�>�< �?�>�<�5�I�5�=�8�8 �A

�4�8�A�:�>�< �<�C�E�8.

���>�>�1�I�5 �A�@�0�1�0�B�K�2�0�=�8�5 �4�0�B�G�8�:�0 �=�5 �O�2�;�O�5�B�A�O �?�@�8�7�=�0�:�>�<

�C�4�0�@�0. ���>�6�5�B �@�0�A�B�8 �4�0�6�5 �>�B �?�>�7�8�F�8�>�=�8�@�>�2�0�=�8�O ������ �A�0�<�8�<

�4�8�A�:�>�<, �>�A�>�1�5�=�=�> �5�A�;�8 �5�3�> �=�5 �7�0�:�@�5�?�8�B�L. ���A�=�>�2�=�>�5

�=�0�7�=�0�G�5�=�8�5 �4�0�B�G�8�:�0  � �?�@�5�:�@�0�B�8�B�L �>�?�5�@�0�F�8�N �7�0�?�8�A�8 �?�@�8

�2�8�1�@�0�F�8�O�E, �G�B�>�1�K �8�7�1�5�6�0�B�L �>�H�8�1�>�:.

���5 �3�>�2�>�@�8�B �> �7�4�>�@�>�2�L�5 �4�8�A�:�0.

���B�@�8�1�C�B: 192 (�!0) Power Off Retract Count (Emergency Retry Count)
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�!�B�@�0�=�8�F�0 10/15

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�4�;�O �@�0�7�=�K�E �2�8�=�G�5�A�B�5�@�>�2 �<�>�6�5�B �A�>�4�5�@�6�0�B�L �>�4�=�C

�8�7 �A�;�5�4�C�N�I�8�E �4�2�C�E �E�0�@�0�:�B�5�@�8�A�B�8�:: �;�8�1�> �A�C�<�<�0�@�=�>�5

�:�>�;�8�G�5�A�B�2�> �?�0�@�:�>�2�>�: ������ �4�8�A�:�0 �2 �0�2�0�@�8�9�=�K�E �A�8�B�C�0�F�8�O�E (�?�>

�A�8�3�=�0�;�C �>�B �2�8�1�@�>�4�0�B�G�8�:�0, �>�1�@�K�2�C/�?�>�=�8�6�5�=�8�N �?�8�B�0�=�8�O �8

�B. 	�?.), �;�8�1�> �A�C�<�<�0�@�=�>�5 �:�>�;�8�G�5�A�B�2�> �F�8�:�;�>�2

�2�:�;�N�G�5�=�8�O/�2�K�:�;�N�G�5�=�8�O �?�8�B�0�=�8�O �4�8�A�:�0 (�E�0�@�0�:�B�5�@�=�> �4�;�O

�A�>�2�@�5�<�5�=�=�K�E WD �8 Hitachi)

���5 �?�>�7�2�>�;�O�5�B �A�C�4�8�B�L �> �A�>�A�B�>�O�=�8�8 �4�8�A�:�0.

���B�@�8�1�C�B: 193 (�!1) Load/Unload Cycle Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �?�>�;�=�K�E �F�8�:�;�>�2

�?�0�@�:�>�2�:�8/�@�0�A�?�0�@�:�>�2�:�8 ������. ���=�0�;�8�7 �M�B�>�3�> �0�B�@�8�1�C�B�0  � �>�4�8�=

�8�7 �A�?�>�A�>�1�>�2 �>�?�@�5�4�5�;�8�B�L, �2�:�;�N�G�5�=�0 �;�8 �=�0 �4�8�A�:�5 �D�C�=�:�F�8�O

�0�2�B�>�<�0�B�8�G�5�A�:�>�9 �?�0�@�:�>�2�:�8 (�A�B�>�;�L �;�N�1�8�<�0�O, �=�0�?�@�8�<�5�@,

�:�>�<�?�0�=�8�5�9 Western Digital): �5�A�;�8 �5�3�> �A�>�4�5�@�6�8�<�>�5 �?�@�5�2�>�A�E�>�4�8�B

(�>�1�K�G�=�>  � �<�=�>�3�>�:�@�0�B�=�>) �A�>�4�5�@�6�8�<�>�5 �0�B�@�8�1�C�B�0 09  � �A�G�Q�B�G�8�:

�>�B�@�0�1�>�B�0�=�=�K�E �G�0�A�>�2,  � �B�> �?�0�@�:�>�2�:�0 �2�:�;�N�G�5�=�0

���5 �3�>�2�>�@�8�B �> �7�4�>�@�>�2�L�5 �4�8�A�:�0.

���B�@�8�1�C�B: 194 (�!2) Temperature (HDA Temperature, HDD Temperature)

�"�8�?	�B�5�:�C�I�8�9/�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �B�5�:�C�I�C�N �B�5�<�?�5�@�0�B�C�@�C �4�8�A�:�0.

�"�5�<�?�5�@�0�B�C�@�0 �A�G�8�B�K�2�0�5�B�A�O �A �4�0�B�G�8�:�0, �:�>�B�>�@�K�9 �=�0 �@�0�7�=�K�E

�<�>�4�5�;�O�E �<�>�6�5�B �@�0�A�?�>�;�0�3�0�B�L�A�O �2 �@�0�7�=�K�E �<�5�A�B�0�E. ���>�;�5

�2�<�5�A�B�5 �A �B�5�:�C�I�5�9 �B�0�:�6�5 �<�>�6�5�B �A�>�4�5�@�6�0�B�L �<�0�:�A�8�<�0�;�L�=�C�N �8

�<�8�=�8�<�0�;�L�=�C�N �B�5�<�?�5�@�0�B�C�@�K, �7�0�D�8�:�A�8�@�>�2�0�=�=�K�5 �7�0 �2�A�Q �2�@�5�<�O

�M�:�A�?�;�C�0�B�0�F�8�8 �2�8�=�G�5�A�B�5�@�0.

�� �A�>�A�B�>�O�=�8�8 �4�8�A�:�0 �0�B�@�8�1�C�B �=�5 �3�>�2�>�@�8�B, �=�> �?�>�7�2�>�;�O�5�B

�:�>�=�B�@�>�;�8�@�>�2�0�B�L �>�4�8�= �8�7 �2�0�6�=�5�9�H�8�E �?�0�@�0�<�5�B�@�>�2. ���>�Q

�<�=�5�=�8�5: �?�@�8 �@�0�1�>�B�5 �A�B�0�@�0�9�B�5�A�L �=�5 �4�>�?�C�A�:�0�B�L �?�>�2�K�H�5�=�8�O

�B�5�<�?�5�@�0�B�C�@�K �2�8�=�G�5�A�B�5�@�0 �2�K�H�5 50 �3�@�0�4�C�A�>�2, �E�>�B�L

�?�@�>�8�7�2�>�4�8�B�5�;�5�< �>�1�K�G�=�> �8 �4�5�:�;�0�@�8�@�C�5�B�A�O �<�0�:�A�8�<�0�;�L�=�K�9

�?�@�5�4�5�; �B�5�<�?�5�@�0�B�C�@�K �2 55-60 �3�@�0�4�C�A�>�2.

���B�@�8�1�C�B: 195 (�!3) Hardware ECC Recovered

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �>�H�8�1�>�:, �:�>�B�>�@�K�5 �1�K�;�8

�A�:�>�@�@�5�:�B�8�@�>�2�0�=�K �0�?�?�0�@�0�B�=�K�<�8 �A�@�5�4�A�B�2�0�<�8 ECC �4�8�A�:�0.

���A�>�1�5�=�=�>�A�B�8, �?�@�8�A�C�I�8�5 �M�B�>�<�C �0�B�@�8�1�C�B�C �=�0 �@�0�7�=�K�E

�4�8�A�:�0�E, �?�>�;�=�>�A�B�L�N �A�>�>�B�2�5�B�A�B�2�C�N�B �B�0�:�>�2�K�< �0�B�@�8�1�C�B�>�2 01 �8 07.
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���B�@�8�1�C�B: 196 (�!4) Reallocated Event Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �>�?�5�@�0�F�8�9

�?�5�@�5�=�0�7�=�0�G�5�=�8�O �A�5�:�B�>�@�>�2

���>�A�2�5�=�=�> �3�>�2�>�@�8�B �> �7�4�>�@�>�2�L�5 �4�8�A�:�0. �'�5�< �1�>�;�L�H�5

�7�=�0�G�5�=�8�5  � �B�5�< �E�C�6�5. ���4�=�0�:�> �=�5�;�L�7�O �>�4�=�>�7�=�0�G�=�> �A�C�4�8�B�L

�> �7�4�>�@�>�2�L�5 �4�8�A�:�0 �?�> �M�B�>�<�C �?�0�@�0�<�5�B�@�C, �=�5 �@�0�A�A�<�0�B�@�8�2�0�O

�4�@�C�3�8�5 �0�B�@�8�1�C�B�K.

�-�B�>�B �0�B�@�8�1�C�B �=�5�?�>�A�@�5�4�A�B�2�5�=�=�> �A�2�O�7�0�= �A �0�B�@�8�1�C�B�>�< 05. ���@�8

�@�>�A�B�5 196 �G�0�I�5 �2�A�5�3�> �@�0�A�B�Q�B �8 05. ���A�;�8 �?�@�8 �@�>�A�B�5 �0�B�@�8�1�C�B�0 196

�0�B�@�8�1�C�B 05 �=�5 �@�0�A�B�Q�B, �7�=�0�G�8�B, �?�@�8 �?�>�?�K�B�:�5 �@�5�<�0�?�0 �:�0�=�4�8�4�0�B �2

�1�M�4-�1�;�>�:�8 �>�:�0�7�0�;�A�O �A�>�D�B-�1�M�4�>�< (�?�>�4�@�>�1�=�>�A�B�8 �A�<. �=�8�6�5), �8

�4�8�A�: �8�A�?�@�0�2�8�; �5�3�>, �B�0�: �G�B�> �A�5�:�B�>�@ �1�K�; �?�@�8�7�=�0�= �7�4�>�@�>�2�K�<, �8

�2 �?�5�@�5�=�0�7�=�0�G�5�=�8�8 �=�5 �1�K�;�> �=�5�>�1�E�>�4�8�<�>�A�B�8.

���A�;�8 �0�B�@�8�1�C�B 196 �<�5�=�L�H�5 �0�B�@�8�1�C�B�0 05, �7�=�0�G�8�B, �2�> �2�@�5�<�O

�=�5�:�>�B�>�@�K�E �>�?�5�@�0�F�8�9 �?�5�@�5�=�0�7�=�0�G�5�=�8�O �2�K�?�>�;�=�O�;�A�O

�?�5�@�5�=�>�A �=�5�A�:�>�;�L�:�8�E �?�>�2�@�5�6�4�Q�=�=�K�E �A�5�:�B�>�@�>�2 �7�0 �>�4�8�=

�?�@�8�Q�<.

���A�;�8 �0�B�@�8�1�C�B 196 �1�>�;�L�H�5 �0�B�@�8�1�C�B�0 05, �7�=�0�G�8�B, �?�@�8 �=�5�:�>�B�>�@�K�E

�>�?�5�@�0�F�8�O�E �?�5�@�5�=�0�7�=�0�G�5�=�8�O �1�K�;�8 �>�1�=�0�@�C�6�5�=�K

�8�A�?�@�0�2�;�5�=�=�K�5 �2�?�>�A�;�5�4�A�B�2�8�8 �A�>�D�B-�1�M�4�K.

���B�@�8�1�C�B: 197 (�!5) Current Pending Sector Count

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �A�5�:�B�>�@�>�2-�:�0�=�4�8�4�0�B�>�2 �=�0

�?�5�@�5�=�0�7�=�0�G�5�=�8�5 �2 �@�5�7�5�@�2�=�C�N �>�1�;�0�A�B�L.

���0�B�K�:�0�O�A�L �2 �?�@�>�F�5�A�A�5 �@�0�1�>�B�K �=�0 �«�=�5�E�>�@�>�H�8�9�» �A�5�:�B�>�@

(�=�0�?�@�8�<�5�@, �:�>�=�B�@�>�;�L�=�0�O �A�C�<�<�0 �A�5�:�B�>�@�0 �=�5

�A�>�>�B�2�5�B�A�B�2�C�5�B �4�0�=�=�K�< �2 �=�Q�<), �4�8�A�: �?�>�<�5�G�0�5�B �5�3�> �:�0�:

�:�0�=�4�8�4�0�B �=�0 �?�5�@�5�=�0�7�=�0�G�5�=�8�5, �7�0�=�>�A�8�B �5�3�> �2 �A�?�5�F�8�0�;�L�=�K�9

�2�=�C�B�@�5�=�=�8�9 �A�?�8�A�>�: �8 �C�2�5�;�8�G�8�2�0�5�B �?�0�@�0�<�5�B�@ 197. ���7 �M�B�>�3�>

�A�;�5�4�C�5�B, �G�B�> �=�0 �4�8�A�:�5 �<�>�3�C�B �1�K�B�L �?�>�2�@�5�6�4�Q�=�=�K�5 �A�5�:�B�>�@�K, �>

�:�>�B�>�@�K�E �>�= �5�I�Q �=�5 �7�=�0�5�B  � �2�5�4�L �=�0 �?�;�0�A�B�8�=�0�E �2�?�>�;�=�5

�<�>�3�C�B �1�K�B�L �>�1�;�0�A�B�8, �:�>�B�>�@�K�5 �2�8�=�G�5�A�B�5�@ �:�0�:�>�5-�B�> �2�@�5�<�O

�=�5 �8�A�?�>�;�L�7�C�5�B.

���@�8 �?�>�?�K�B�:�5 �7�0�?�8�A�8 �2 �A�5�:�B�>�@ �4�8�A�: �A�=�0�G�0�;�0 �?�@�>�2�5�@�O�5�B, �=�5

�=�0�E�>�4�8�B�A�O �;�8 �M�B�>�B �A�5�:�B�>�@ �2 �A�?�8�A�:�5 �:�0�=�4�8�4�0�B�>�2. ���A�;�8 �A�5�:�B�>�@

�B�0�< �=�5 �=�0�9�4�5�=, �7�0�?�8�A�L �?�@�>�E�>�4�8�B �>�1�K�G�=�K�< �?�>�@�O�4�:�>�<. ���A�;�8

�6�5 �=�0�9�4�5�=, �?�@�>�2�>�4�8�B�A�O �B�5�A�B�8�@�>�2�0�=�8�5 �M�B�>�3�> �A�5�:�B�>�@�0

�7�0�?�8�A�L�N-�G�B�5�=�8�5�<. ���A�;�8 �2�A�5 �B�5�A�B�>�2�K�5 �>�?�5�@�0�F�8�8 �?�@�>�E�>�4�O�B

�=�>�@�<�0�;�L�=�>, �B�> �4�8�A�: �A�G�8�B�0�5�B, �G�B�> �A�5�:�B�>�@ �8�A�?�@�0�2�5�=. (�". 	�5.

�1�K�; �B. 	�=. �«�A�>�D�B-�1�M�4�»  � �>�H�8�1�>�G�=�K�9 �A�5�:�B�>�@ �2�>�7�=�8�: �=�5 �?�>

�2�8�=�5 �4�8�A�:�0, �0 �?�> �8�=�K�< �?�@�8�G�8�=�0�<: �=�0�?�@�8�<�5�@, �2 �<�>�<�5�=�B

�7�0�?�8�A�8 �8�=�D�>�@�<�0�F�8�8 �>�B�:�;�N�G�8�;�>�A�L �M�;�5�:�B�@�8�G�5�A�B�2�>, �8 �4�8�A�:

�?�@�5�@�2�0�; �7�0�?�8�A�L, �7�0�?�0�@�:�>�2�0�2 ������. �� �8�B�>�3�5 �4�0�=�=�K�5 �2 �A�5�:�B�>�@�5
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�>�:�0�6�C�B�A�O �=�5�4�>�?�8�A�0�=�=�K�<�8, �0 �:�>�=�B�@�>�;�L�=�0�O �A�C�<�<�0 �A�5�:�B�>�@�0,

�7�0�2�8�A�O�I�0�O �>�B �4�0�=�=�K�E �2 �=�Q�<, �2�>�>�1�I�5 �>�A�B�0�=�5�B�A�O �A�B�0�@�>�9.

���0�;�8�F�> �1�C�4�5�B �@�0�A�E�>�6�4�5�=�8�5 �<�5�6�4�C �=�5�N �8 �4�0�=�=�K�<�8 �2

�A�5�:�B�>�@�5.) �� �B�0�:�>�< �A�;�C�G�0�5 �4�8�A�: �?�@�>�2�>�4�8�B �8�7�=�0�G�0�;�L�=�>

�7�0�?�@�>�H�5�=�=�C�N �7�0�?�8�A�L �8 �C�4�0�;�O�5�B �A�5�:�B�>�@ �8�7 �A�?�8�A�:�0

�:�0�=�4�8�4�0�B�>�2. ���@�8 �M�B�>�< �0�B�@�8�1�C�B 197 �C�<�5�=�L�H�0�5�B�A�O, �B�0�:�6�5

�2�>�7�<�>�6�=�> �C�2�5�;�8�G�5�=�8�5 �0�B�@�8�1�C�B�0 196.

���A�;�8 �6�5 �B�5�A�B�8�@�>�2�0�=�8�5 �7�0�:�0�=�G�8�2�0�5�B�A�O �=�5�C�4�0�G�5�9, �4�8�A�:

�2�K�?�>�;�=�O�5�B �>�?�5�@�0�F�8�N �?�5�@�5�=�0�7�=�0�G�5�=�8�O, �C�<�5�=�L�H�0�O �0�B�@�8�1�C�B

197, �C�2�5�;�8�G�8�2�0�O 196 �8 05, �0 �B�0�:�6�5 �4�5�;�0�5�B �?�>�<�5�B�:�8 �2 G-list.

���B�0�:, �=�5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5 �?�0�@�0�<�5�B�@�0 �3�>�2�>�@�8�B �>

�=�5�?�>�;�0�4�:�0�E (�?�@�0�2�4�0, �=�5 �<�>�6�5�B �A�:�0�7�0�B�L �> �B�>�<, �2 �A�0�<�>���< �;�8

�4�8�A�:�5 �?�@�>�1�;�5�<�0).

���@�8 �=�5�=�C�;�5�2�>�< �7�=�0�G�5�=�8�8 �=�C�6�=�> �>�1�O�7�0�B�5�;�L�=�> �7�0�?�C�A�B�8�B�L

�2 �?�@�>�3�@�0�<�<�0�E Victoria �8�;�8 MHDD �?�>�A�;�5�4�>�2�0�B�5�;�L�=�>�5 �G�B�5�=�8�5 �2�A�5�9

�?�>�2�5�@�E�=�>�A�B�8 �A �>�?�F�8�5�9 remap. �"�>�3�4�0 �?�@�8 �A�:�0�=�8�@�>�2�0�=�8�8 �4�8�A�:

�>�1�O�7�0�B�5�;�L�=�> �=�0�B�:�=�Q�B�A�O �=�0 �?�;�>�E�>�9 �A�5�:�B�>�@ �8 �?�>�?�K�B�0�5�B�A�O

�?�@�>�8�7�2�5�A�B�8 �7�0�?�8�A�L �2 �=�5�3�> (�2 �A�;�C�G�0�5 Victoria 3.5 �8 �>�?�F�8�8 Advanced remap  �

�4�8�A�: �1�C�4�5�B �?�K�B�0�B�L�A�O �7�0�?�8�A�0�B�L �A�5�:�B�>�@ �4�> 10 �@�0�7). �"�0�:�8�<

�>�1�@�0�7�>�< �?�@�>�3�@�0�<�<�0 �A�?�@�>�2�>�F�8�@�C�5�B �«�;�5�G�5�=�8�5�» �A�5�:�B�>�@�0, �8

�2 �8�B�>�3�5 �A�5�:�B�>�@ �1�C�4�5�B �;�8�1�> �8�A�?�@�0�2�;�5�=, �;�8�1�>

�?�5�@�5�=�0�7�=�0�G�5�=.

�� �A�;�C�G�0�5 �=�5�C�4�0�G�8 �G�B�5�=�8�O �:�0�: �A remap, �B�0�: �8 �A Advanced remap, �A�B�>�8�B

�?�>�?�@�>�1�>�2�0�B�L �7�0�?�C�A�B�8�B�L �?�>�A�;�5�4�>�2�0�B�5�;�L�=�C�N �7�0�?�8�A�L �2

�B�5�E �6�5 Victoria �8�;�8 MHDD. �#�G�8�B�K�2�0�9�B�5, �G�B�> �>�?�5�@�0�F�8�O �7�0�?�8�A�8 �A�B�8�@�0�5�B

�4�0�=�=�K�5, �?�>�M�B�>�<�C �?�5�@�5�4 �5�Q �?�@�8�<�5�=�5�=�8�5�< �>�1�O�7�0�B�5�;�L�=�>

�4�5�;�0�9�B�5 �1�M�:�0�?!

���=�>�3�4�0 �>�B �=�5�2�K�?�>�;�=�5�=�8�O �@�5�<�0�?�0 �<�>�3�C�B �?�>�<�>�G�L

�A�;�5�4�C�N�I�8�5 �<�0�=�8�?�C�;�O�F�8�8: �A�=�8�<�8�B�5 �?�;�0�B�C �M�;�5�:�B�@�>�=�8�:�8

�4�8�A�:�0 �8 �?�>�G�8�A�B�8�B�5 �:�>�=�B�0�:�B�K �3�5�@�<�>�1�;�>�:�0 �2�8�=�G�5�A�B�5�@�0,

�A�>�5�4�8�=�O�N�I�8�5 �5�3�> �A �?�;�0�B�>�9  � �>�=�8 �<�>�3�C�B �1�K�B�L �>�:�8�A�;�5�=�K.

���C�4�L �0�:�:�C�@�0�B�=�K �?�@�8 �2�K�?�>�;�=�5�=�8�8 �M�B�>�9 �?�@�>�F�5�4�C�@�K  � �8�7-�7�0

�=�5�Q �<�>�6�=�> �;�8�H�8�B�L�A�O �3�0�@�0�=�B�8�8!

���5�2�>�7�<�>�6�=�>�A�B�L �@�5�<�0�?�0 �<�>�6�5�B �1�K�B�L �>�1�C�A�;�>�2�;�5�=�0 �5�I�Q

�>�4�=�>�9 �?�@�8�G�8�=�>�9  � �4�8�A�: �8�A�G�5�@�?�0�; �@�5�7�5�@�2�=�C�N �>�1�;�0�A�B�L, �8

�5�<�C �?�@�>�A�B�> �=�5�:�C�4�0 �?�5�@�5�=�0�7�=�0�G�0�B�L �A�5�:�B�>�@�K.

���A�;�8 �6�5 �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 197 �=�8�:�0�:�8�<�8 �<�0�=�8�?�C�;�O�F�8�O�<�8 �=�5

�A�=�8�6�0�5�B�A�O �4�> 0, �A�;�5�4�C�5�B �4�C�<�0�B�L �> �7�0�<�5�=�5 �4�8�A�:�0.

���B�@�8�1�C�B: 198 (�!6) Offline Uncorrectable Sector Count (Uncorrectable Sector Count)

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�>�7�=�0�G�0�5�B �B�> �6�5 �A�0�<�>�5, �G�B�> �8 �0�B�@�8�1�C�B 197, �=�>

�>�B�;�8�G�8�5 �2 �B�>�<, �G�B�> �4�0�=�=�K�9 �0�B�@�8�1�C�B �A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�>

�A�5�:�B�>�@�>�2-�:�0�=�4�8�4�0�B�>�2, �>�1�=�0�@�C�6�5�=�=�K�E �?�@�8 �>�4�=�>�< �8�7 �2�8�4�>�2

�A�0�<�>�B�5�A�B�8�@�>�2�0�=�8�O �4�8�A�:�0  � �>�D�D�;�0�9�=-�B�5�A�B�8�@�>�2�0�=�8�8,

�:�>�B�>�@�>�5 �4�8�A�: �7�0�?�C�A�:�0�5�B �2 �?�@�>�A�B�>�5 �2 �A�>�>�B�2�5�B�A�B�2�8�8 �A
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�!�B�@�0�=�8�F�0 13/15

�?�0�@�0�<�5�B�@�0�<�8, �7�0�4�0�=�=�K�<�8 �?�@�>�H�8�2�:�>�9.

���0�@�0�<�5�B�@ �M�B�>�B �8�7�<�5�=�O�5�B�A�O �B�>�;�L�:�> �?�>�4 �2�>�7�4�5�9�A�B�2�8�5�<

�>�D�D�;�0�9�=-�B�5�A�B�8�@�>�2�0�=�8�O, �=�8�:�0�:�8�5 �A�:�0�=�8�@�>�2�0�=�8�O

�?�@�>�3�@�0�<�<�0�<�8 �=�0 �=�5�3�> �=�5 �2�;�8�O�N�B. ���@�8 �>�?�5�@�0�F�8�O�E �2�> �2�@�5�<�O

�A�0�<�>�B�5�A�B�8�@�>�2�0�=�8�O �?�>�2�5�4�5�=�8�5 �0�B�@�8�1�C�B�0 �B�0�:�>�5 �6�5, �:�0�: �8

�0�B�@�8�1�C�B�0 197.

���5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5 �3�>�2�>�@�8�B �> �=�5�?�>�;�0�4�:�0�E �=�0 �4�8�A�:�5

(�B�>�G�=�> �B�0�: �6�5, �:�0�: �8 197, �=�5 �:�>�=�:�@�5�B�8�7�8�@�C�O, �:�B�> �2�8�=�>�2�0�B).

���B�@�8�1�C�B: 199 (�!7) UltraDMA CRC Error Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �>�H�8�1�>�:, �2�>�7�=�8�:�H�8�E �?�@�8

�?�5�@�5�4�0�G�5 �?�> �8�=�B�5�@�D�5�9�A�=�>�<�C �:�0�1�5�;�N �2 �@�5�6�8�<�5 UltraDMA (�8�;�8

�5�3�> �M�<�C�;�O�F�8�8 �2�8�=�G�5�A�B�5�@�0�<�8 SATA) �>�B �<�0�B�5�@�8�=�A�:�>�9 �?�;�0�B�K �8�;�8

�4�8�A�:�@�5�B�=�>�3�> �:�>�=�B�@�>�;�;�5�@�0 �:�>�=�B�@�>�;�;�5�@�C �4�8�A�:�0.

�� �?�>�4�0�2�;�O�N�I�5�< �1�>�;�L�H�8�=�A�B�2�5 �A�;�C�G�0�5�2 �?�@�8�G�8�=�0�<�8 �>�H�8�1�>�:

�A�B�0�=�>�2�O�B�A�O �=�5�:�0�G�5�A�B�2�5�=�=�K�9 �H�;�5�9�D �?�5�@�5�4�0�G�8 �4�0�=�=�K�E,

�@�0�7�3�>�= �H�8�= PCI/PCI-E �:�>�<�?�L�N�B�5�@�0 �;�8�1�> �?�;�>�E�>�9 �:�>�=�B�0�:�B �2

SATA-�@�0�7�J�Q�<�5 �=�0 �4�8�A�:�5 �8�;�8 �=�0 �<�0�B�5�@�8�=�A�:�>�9

�?�;�0�B�5/�:�>�=�B�@�>�;�;�5�@�5.

���H�8�1�:�8 �?�@�8 �?�5�@�5�4�0�G�5 �?�> �8�=�B�5�@�D�5�9�A�C �8, �:�0�: �A�;�5�4�A�B�2�8�5,

�@�0�A�B�C�I�5�5 �7�=�0�G�5�=�8�5 �0�B�@�8�1�C�B�0 �<�>�3�C�B �?�@�8�2�>�4�8�B�L �:

�?�5�@�5�:�;�N�G�5�=�8�N �>�?�5�@�0�F�8�>�=�=�>�9 �A�8�A�B�5�<�>�9 �@�5�6�8�<�0 �@�0�1�>�B�K

�:�0�=�0�;�0, �=�0 �:�>�B�>�@�>�< �=�0�E�>�4�8�B�A�O �=�0�:�>�?�8�B�5�;�L, �2 �@�5�6�8�< PIO,

�G�B�> �2�;�5�G�Q�B �@�5�7�:�>�5 �?�0�4�5�=�8�5 �A�:�>�@�>�A�B�8 �G�B�5�=�8�O/�7�0�?�8�A�8 �?�@�8

�@�0�1�>�B�5 �A �=�8�< �8 �7�0�3�@�C�7�:�C �?�@�>�F�5�A�A�>�@�0 �4�> 100% (�2�8�4�=�> �2

���8�A�?�5�B�G�5�@�5 �7�0�4�0�G Windows).

�� �A�;�C�G�0�5 �2�8�=�G�5�A�B�5�@�>�2 Hitachi �A�5�@�8�9 Deskstar 7��3000 �8 5��3000 �@�0�A�B�C�I�8�9

�0�B�@�8�1�C�B �<�>�6�5�B �3�>�2�>�@�8�B�L �> �=�5�A�>�2�<�5�A�B�8�<�>�A�B�8 �4�8�A�:�0 �8

SATA-�:�>�=�B�@�>�;�;�5�@�0. �'�B�>�1�K �8�A�?�@�0�2�8�B�L �A�8�B�C�0�F�8�N, �=�C�6�=�>

�?�@�8�=�C�4�8�B�5�;�L�=�> �?�5�@�5�:�;�N�G�8�B�L �B�0�:�>�9 �4�8�A�: �2 �@�5�6�8�< SATA 3

���1�8�B/�A.

���>�Q �<�=�5�=�8�5: �?�@�8 �=�0�;�8�G�8�8 �>�H�8�1�>�:  � �?�5�@�5�?�>�4�:�;�N�G�8�B�5

�:�0�1�5�;�L �A �>�1�>�8�E �:�>�=�F�>�2; �5�A�;�8 �8�E �:�>�;�8�G�5�A�B�2�> �@�0�A�B�Q�B �8 �>�=�>

�1�>�;�L�H�5 10  � �2�K�1�@�0�A�K�2�0�9�B�5 �H�;�5�9�D �8 �A�B�0�2�L�B�5 �2�<�5�A�B�> �=�5�3�>

�=�>�2�K�9 �8�;�8 �A�=�8�<�0�9�B�5 �@�0�7�3�>�=.

���>�6�=�> �A�G�8�B�0�B�L, �G�B�> �> �7�4�>�@�>�2�L�5 �4�8�A�:�0 �0�B�@�8�1�C�B �=�5 �3�>�2�>�@�8�B.

���B�@�8�1�C�B: 200 (�!8) Write Error Rate (MultiZone Error Rate)

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �G�0�A�B�>�B�C �2�>�7�=�8�:�=�>�2�5�=�8�O �>�H�8�1�>�: �?�@�8

�7�0�?�8�A�8.

���5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5 �3�>�2�>�@�8�B �> �?�@�>�1�;�5�<�0�E �A �4�8�A�:�>�<  � �2

�G�0�A�B�=�>�A�B�8, �C �4�8�A�:�>�2 WD �1�>�;�L�H�8�5 �F�8�D�@�K �<�>�3�C�B �>�7�=�0�G�0�B�L

https://415.spb.ru/ins/faq/faq.php?0.cat.47
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�«�C�<�8�@�0�N�I�8�5�» �3�>�;�>�2�:�8.

���B�@�8�1�C�B: 201 (�!9) Soft Read Error Rate

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �G�0�A�B�>�B�C �2�>�7�=�8�:�=�>�2�5�=�8�O �>�H�8�1�>�:

�G�B�5�=�8�O, �?�@�>�8�7�>�H�5�4�H�8�E �?�> �2�8�=�5 �?�@�>�3�@�0�<�<�=�>�3�>

�>�1�5�A�?�5�G�5�=�8�O

���;�8�O�=�8�5 �=�0 �7�4�>�@�>�2�L�5 �=�5�8�7�2�5�A�B�=�>.

���B�@�8�1�C�B: 202 (�!��) Data Address Mark Error

�"�8�?	�=�5�8�7�2�5�A�B�=�>

���?�8�A�0�=�8�5	�A�>�4�5�@�6�0�=�8�5 �0�B�@�8�1�C�B�0  � �7�0�3�0�4�:�0, �=�>

�?�@�>�0�=�0�;�8�7�8�@�>�2�0�2 �@�0�7�;�8�G�=�K�5 �4�8�A�:�8, �<�>�3�C �:�>�=�A�B�0�B�8�@�>�2�0�B�L,

�G�B�> �=�5�=�C�;�5�2�>�5 �7�=�0�G�5�=�8�5  � �M�B�> �?�;�>�E�>

���B�@�8�1�C�B: 203 (CB) Run Out Cancel

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �:�>�;�8�G�5�A�B�2�> �>�H�8�1�>�: ECC

���;�8�O�=�8�5 �=�0 �7�4�>�@�>�2�L�5 �=�5�8�7�2�5�A�B�=�>.

���B�@�8�1�C�B: 220 (DC) Disk Shift

�"�8�?	�B�5�:�C�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �8�7�<�5�@�5�=�=�K�9 �2 �=�5�8�7�2�5�A�B�=�K�E �5�4�8�=�8�F�0�E

�A�4�2�8�3 �?�;�0�A�B�8�= �4�8�A�:�0 �>�B�=�>�A�8�B�5�;�L�=�> �>�A�8 �H�?�8�=�4�5�;�O

���;�8�O�=�8�5 �=�0 �7�4�>�@�>�2�L�5 �=�5�8�7�2�5�A�B�=�>.

���B�@�8�1�C�B: 240 (F0) Head Flying Hours

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �2�@�5�<�O, �7�0�B�@�0�G�5�=�=�>�5 �=�0

�?�>�7�8�F�8�>�=�8�@�>�2�0�=�8�5 ������. �!�G�Q�B�G�8�: �<�>�6�5�B �A�>�4�5�@�6�0�B�L

�=�5�A�:�>�;�L�:�> �7�=�0�G�5�=�8�9 �2 �>�4�=�>�< �?�>�;�5

���;�8�O�=�8�5 �=�0 �7�4�>�@�>�2�L�5 �=�5�8�7�2�5�A�B�=�>.

���B�@�8�1�C�B: 254 (FE) Free Fall Event Count

�"�8�?	�=�0�:�0�?�;�8�2�0�N�I�8�9

���?�8�A�0�=�8�5	�A�>�4�5�@�6�8�B �7�0�D�8�:�A�8�@�>�2�0�=�=�>�5 �M�;�5�:�B�@�>�=�8�:�>�9

�:�>�;�8�G�5�A�B�2�> �C�A�:�>�@�5�=�8�9 �A�2�>�1�>�4�=�>�3�> �?�0�4�5�=�8�O �4�8�A�:�0,
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�:�>�B�>�@�K�< �>�= �?�>�4�2�5�@�3�0�;�A�O, �B. 	�5., �?�@�>�I�5 �3�>�2�>�@�O, �?�>�:�0�7�K�2�0�5�B,

�A�:�>�;�L�:�> �@�0�7 �4�8�A�: �?�0�4�0�;

���;�8�O�=�8�5 �=�0 �7�4�>�@�>�2�L�5 �=�5�8�7�2�5�A�B�=�>.

12 �0�?�@�5�;�O 2012 �3. 	���2�B�>�@ ���2�3�5�=�8�9 ���0�4�0�;�O�=

���B�:�C�4�0-�B�> �A ixbt �:�0�6�5�B�A�O...

Details
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